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If it became entangled on its own he is exempt — WD IR WP

OVERVIEW

The ruling of X117 21 is if the 277 became entangled in the foot of the 213370 and it
damaged after it came to rest, the 73707 %¥2 is Mwo. Our NMdOIN explains the
reason for the 1wy, for seemingly the 913170 made this M.

72 MY N M YN
For the 770 writes,” 792 W™K 77>° *> (if a man digs a pit); we derive from this that
one is liable, for damages caused by a M2, only if a person makes the 712, but not
if an ox (or other animal) makes the 912.

SUMMARY
The 91707 v2 is not liable for the M2 that the 1370 made, for it is excluded by
the 7% of 912 MW X9 M2 wK.

THINKING IT OVER

This exclusion of 72 MW X M2 ¥R was already clearly mentioned in the X713
previously regarding the 9131707 %v2 in the same case of vo&n wpi. Why is it
necessary for oI to repeat it here?!’

"It seems that this exclusion is derived for the word WX is (somewhat) superfluous.

2 32,80 (Dwown) Mnw. See later X,X3.

? It may be necessary to distinguish between the (reaction of the X723 to the) assumption of 71" ruling initially, and
the final assumption here.
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